AT

19
%}q%mﬁiﬁﬁv“

K4 p4y R

il #HSC

ORI IEEEH S IZEB W T Rl D
SUEE TCIk\WIEZ & 2 LE T

50mNNZ 7T A
50mHAMHE
10 0mB®lE

TRAEN AT [

—a

AL

N
36,43 00#%

1:46.55 0Lk

ASF 6 £ 5 H 18 H

%1% (— %) 2 2K oK
TRUBIR R
A~T b

i 4 Fh R D SRR




ﬁﬁ%%ﬂ%ﬂ@m&kA

K4 R FoEk

il #HSC

ORI IEEEH S IZEB W T Rl D
STk Wi Z L ZiF U T

—a

BL
20 0mEkE 2:31.53 04k
10 0mHHBHE 59,78 06k

TRAEN AT [

ASF 6 £ 5 H 18 H

%1% (— %) 2 2K oK
TRUBIR R
A~T b

7% % VANAVGINDZE A s W= 3




| SN

1 9=
IR K S K UKt R =

K4 —H 24
At HHSC

ORI IEEEH S IZEB W T Rl D
STk Wi Z L ZiF U T
50

50mHBHE 27.49 06%

TRAEN AT [

ASF 6 £ 5 H 18 H

%1% (— %) 2 2K oK
TRUBIR R
A~T b

7% % VANAVGINDZE A s W= 3




ﬁﬁ%%ﬂ%ﬂ@m&kA

K4 il Big

il #HSC

ORI IEEEH S IZEB W T Rl D
STk Wi Z L ZiF U T

—a

AL

50m/A% 7T A S
50mHARE 29,72 05#%

TRAEN AT [

ASF 6 £ 5 H 18 H

%1% (— %) 2 2K oK
TRUBIR R
A~T b

7% % VANAVGINDZE A s W= 3




ﬁﬁ%%ﬂ%ﬂ@m&kA

K4 il @8}

il #HSC

ORI IEEEH S IZEB W T Rl D
STk Wi Z L ZiF U T

—a

BL
20 0mHEHE 2:30.27 03#%
40 0mHAHE 5:15,08 04%%

TRAEN AT [

ASF 6 £ 5 H 18 H

%1% (— %) 2 2K oK
TRUBIR R
A~T b

7% % VANAVGINDZE A s W= 3




$19m
ﬁﬁﬁém%mﬁm&kA

A

il #HSC

ORI IEEEH S IZEB W T Rl D
STk Wi Z L ZiF U T

—a

BL
50mHBHE 30.19 05#%
40 0mHAHE 4:59/81 05%%

TRAEN AT [

ASF 6 £ 5 H 18 H

%1% (— %) 2 2K oK
TRUBIR R
A~T b

7% % VANAVGINDZE A s W= 3




s
7K

1 9 (&
MR AR5 KBS K Pk B R

K4 HH OIF#

il #HSC

ORI IEEEH S IZEB W T Rl D
STk Wi Z L ZiF U T

—a

BL
100mHBH®HE 1:05.88 06k
40 0mHAHE 5:01.76 06%%

TRAEN AT [

SFn 6 &£ 5 H 18 H

%1% (— %) 2 2K oK
TRUBIR R
A~T b

fih 2% VANAV R A S2VEE T o




ﬁﬁ%%ﬂ%ﬂ@m&kA

K4 £ K

il #HSC

ORI IEEEH S IZEB W T Rl D
STk Wi Z L ZiF U T

—a

BL
10 0 mYrkE 1:33.83 01
50mHEHE 31.20 05%%

TRAEN AT [

ASF 6 £ 5 H 18 H

%1% (— %) 2 2K oK
TRUBIR R
A~T b

7% % VANAVGINDZE A s W= 3




ﬁﬁ%%ﬂ%ﬂ@m&kA

K4 o)l

il #HSC

ORI IEEEH S IZEB W T Rl D
SUEE TCIk\WIEZ & 2 LE T

—a

BL
50mHBHE 29.59 08k
10 0mHAHE 1:04.39 08k
20 0mHBE®HE 2:25.30 07:#%

TRAEN AT [

ASF 6 £ 5 H 18 H

%1% (— %) 2 2K oK
TRUBIR R
A~T b

7% % VANAVGINDZE A s W= 3




